29014 THEMEIEXE

7= miiEA

M

BHETEMN 1.4308,

B 4L 8248 1SO 4762 MAARF 1SO 4032 , FEHEMH,
KF @30 mm HI<AIER 1SO 4017 , TEMH,

I
Z B IALIE,

BN

BE&7 30 M 40 mm WEZLEEEFNRAER |, BHIE ARSI
SRS IR R,

BEEK

ATEENRE,

B
- A EMAFE 29050

© norelem www.norelem.com



20014 AR5k 22 B L

@ D P S
| S E—— /_
-—P- |_]
1/ il n i
[ A o E iy ¥
T
VWV \ < ( S
< —— 2 [l =
I x o
AN -
/ = s
=1 ] [ [] L] [l 1
= D
M
U M
H H
[\ & 7 PR
X ]
@ ™A M Mo ||
PTH TG e w o
) ‘ o !
\& .
29014-112 A 12,1 55 |18 25 32 30,4 |37 |38| 32,5 405 50| 5 - 23 M6x18 40
29014-114 A 14,1 55 |18 25 32 30,4 |37 |38| 32,5 405 50| 5 23 M6x18 40
29014-116 A 16,1 55 |18 25 32 30,4 |37 |38| 32,5 405 50| 5 23 M6x18 40
29014-118 A 18,1 55 |18 25 32 30,4 |37 |38| 32,5 405 50| 5 23 M6x18 40
29014-120 A 20,1 55 |18 25 32 30,4 |37 |38| 32,5 405 50| 5 23 M6x18 40
29014-130 B 30,1 7 30| 37,4 32,4 - 55 | 60 50 59,2 78| 7 |40 | 455 M8x30
29014-140 B 40,17 9 42 | 494 46,4 - 80 | 60 69 80 80| 10 | 60 52 M10x35

© norelem www.norelem.com



